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Question 1. (20%).Circle the most correct answer: 7
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2. lma/ (11 — 7 2, given ¢ == 1 find the largest § such that 0 < |z — 7] < &, then
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¥ 4. Consider the function f(z) = ——_—————,2———, tnep the vertical asymptote/s {s/are

16 : _
{a)z =4 | S
{e)z=4,z=—4
{d) None of the above
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5. The domain of the function f(z) = wm——:[ - is
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¥ 7. The graphs of the functions f(z) =2"—5z+2and g (x) = —2a°+4z+3 intersect
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8. Find value/s of b for which the function flz) is continvous for all values of =
- gin(3z) :
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“}L 11, The function f(z) = Hjj’_g_;_ has a removable discontnnury o _
(a) v=—3andz =3 .
(b) =3 SN
{c) E‘;:—:-'-Q\ T 3 ;
AD) @ = w?:\/ \{ o %J
12. LEP period of y = cos(—— - m) is .
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15. The horizontal asymptote of f(z) = A
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16. 1f the graph of the circle z? + 1 = 25 is shifted upwar d by $ units, and lefterard
by 4 units, then the new forrula of the circle is

(a) (z+4)?+(y+3)? =25
(b) (z— 42+ (y+3)* =25
(¢) (x4 +(y=3) =25
‘L@?(az + 4P+ (y—38)* =25

17. The function f(z) = |z| +zcosz s g(_;,] - \44 boox (oS X

{a) odd function. o X S %)
(b) even fanction. ‘
(¢) both even and odd function. 57 B 'KfU” .

(/‘ inelther even nor odd function.
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Domain of fz) is (o0, 00) — {-2,2}

Question 2. {(5%) Let fz) = T

f(oy=0
tim f(z) =0, lim f(z)=0
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lim f(z) = —co, lIm flz) =o0
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Sketeh the graph of f(x) where;

lim f(z) = —co and lm f(z) = co.
pre-2t z——2"




